Ke
Science 10 Name: C/S/
Word Equations

Write the skeleton equation for each of the following reactions. Then balance each of the
following chemical equations. .

1. hydrogen + oxygen - water

20, + 0O, —> ZUd,O

ey
2. iron (III) oxide + hydrogen - water + iron

FeO; + BH, —> 2ZH, O + 2 Fe

3. sodium + water > sodium hydroxide + hydrogen
ZNe + ZH, 0 —> 2 N.OHd + Ha

4. calcium carbide + oxygen = calcium + carbon dioxide

QZZE t 02. —> 22 (a Tt CO—.L

5. potassium iodide + chlorine - potassium chloride + iodine

ZKI + Cci, — z kcl + I,

6. chromium + tin (IV) chloride = chromium (III) chloride + tin

CILCV‘ t BSV\ Clr_(. o LK'CV‘ CIZ + BSJ« .

7. magnesium + copper (II) sulphate = magnesium sulphate + copper

HO) - (b\go% — MﬂQOq + Cw

8. zinc sulphate + strontium chloride = zinc chloride + strontium sulphate

A SOq -+ SV‘C(? e th C’Q_ + Sr SO(_JL

9. ammonium chloride + lead (IlI) nitrate > ammonium nitrate + lead (lII) chloride

3Ny CU_+ Pb (Nog), —> 3NHgNoy + PhCly
10. iron (III) nitrate + magnesium sulphide => iron (III) sulphide + magnesium nitrate
ZFe (Nods + SMaS —= Fe S, + 3Ma(No),
11. aluminum chloride + sodium carbonate = aluminum carbonate + sodium chloride

2AlCly + BNa, (03 => ALCO); + (NaCl

12. sodium phosphate + calcium hydroxide = sodium hydroxide + calcium phosphate .

2 Ne o POy + 3Ca(0),—> GNaOH + Cay (PD),




Science 10 Name: /<£;>/

Chemical reactions and chemical equations

Rewrite the following sentences as chemical word equations. Then write the skeleton equation
and balance the equation.

1. Iron combines with oxygen to form rust, which is also known as iron (II) oxide.
Word equation: __(vo~ 4+ 0xXyger 945  —>  i/ow (1) oxide
Balanced equation: _ < fe.  + o, — ZF O

2. A solution of hydrogen chloride reacts with sodium carbonate to produce carbon dioxide, 5
sodium chloride, and water. &

Word equation: hydvoge. chlovide + sodion Cavbonde —> Lorben dioxeide + 5
v,

Balanced equation: _ ZHC[ + [N« O, — (O, + ZNgCl + H, 0 ?‘5
('\
3. When aluminum metal is exposed to oxygen, a metal oxide called aluminum oxide is formed. z
=
Word equation: _4 /t/”?fm/rn + 0 Aygem 943 —=  Gluvmyem pox/ de g—
Balanced equation: YAl + 30, —_9‘2/” +
S
4. Water reacts with powdered sodium oxide to produce a solution of sodium hydroxide. '-‘§
Word equation: Wwatt &+ Sodwnm oxide —> }pc({w«—n Luyalw ¥ de 5
Balanced equation:__ 0 + Na, O —> 2 Na OH
5. Hydrogen gas reacts with nitrogen trifluoride gas to form nitrogen gas and hydrogen
fluoride. |
Word equation: L‘/JW?" 345 . “1‘0!”3*“ h;'P/M'”f'JE/ = ”‘*”7’ [~ gs i 1’/"!"‘%
Balanced equation: 3H, + ZNFy, —= N2z + ¢ HF )9:
5

6. Chromium (III) sulphate reacts with potassium carbonate to form chromium (I11) carbonate
and potassium sulphate.

Word equation: Chvomns (”‘)ﬂv/pz'"}’a +f"'fl’5”"”' Carbmcde —2 Chvomin (BN cacndte 4 907%-
Balanced equation: s (509); + 3K, (o, = Cf_.,’ (o). + 3BK.S Oy

Ei
al
7. Potassium chlorate when heated becomes oxygen gas and potassium chloride. -
Word equation: ,ﬂrﬁ-ﬁswm f/Ja(a rn“\’/ = OXV% v; a5 *+ pm‘z%,um c;L (o.walf-
Balanced equation: __ 2 IS €l C. % > 3 O_',_ = 2 \4 C\

8. A piece of metallic zinc is placed in a blue solution of copper (II) sulphate. A reddish brown
layer of metallic copper forms in a clear solution of zinc sulphate.

Word equation: _Zwec _+ Copper (’Dg”)fzﬁ_’le—"_; COﬂW“ o 26T FV’L’)’ te
Balanced equation: Zn + CL\ 50._1, - Cu + Zn gO




